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02 LB HAHEE 45,000 40,000 5,000
O gHse2ATx3g 29 K& 45,000
AHANAZXZY 2E X (ZHIEEXE) 97,000 119,000 22,000
307 glztol & 97,000 60,000 37,000
02 2B YA HE X 97,000 60,000 37,000
O EANAE=ZY 2 XE 97,000
Meozl ZRASEXXEL! MU ZBINE |FAL(E 500,000 0 500,000
)
s 500,000
401 Al HIZL 01| 500,000 0 500,000
= 500,000
01 Al&HI 500,000 0 500,000
O Heosl ZHSENXE2HFUHE 301
=A 24 500,000
& 500,000
HSIIEAIE &F - 2l 11,564,420 10,486,870 1,077,550
Jl 480,000
= 3,192,000
Al 7,892,420
SUIRMSEAIE €X & =2 902,600 854,950 47,650
201 fer= 3| 97,600 92,850 4,750
01 AtR2tc|HI 25,600 20,850 4,750
O 2ESH=a2 &dojetdae] E9 2,200
O =2Mat 2= 22,000
O AMA HEZ HOIESE ALAEFEE &
o 1,400
02 S3=gl 72,000 72,000 0
O SUIMSAIE 212 AIESXIH 30,000
O SUHSAIE 3323 (8], 4ot
2) 3,500,000& * 1204 & 42,000
202 04l 5,000 7,500 22,500
01 SLHoIH 5,000 7,500 A2,500
O MESAIE2ES: =0 5,000
401 AlEHIZ S 0HYI 760,000 740,000 20,000
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A MY
3 MSAE 2 (2L 2E/HF)
Cel: HMSFIIEAIE &5 - 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 500,000 400,000 100,000
O =2UM=S2tdE AE 500,000
MERSIHSIH TE(S)(HEAY) 2,347,000 4,800,000 A\2,453,000
S 2,347,000
401 Al HIZL 201 2,347,000 4,800,000 22,453,000
= 2,347,000
01 AlZ28| 2,347,000 4,800,000 A2,453,000
O HE2SHSSVEE(HEAY) 2,347,000
== 2,347,000
mas=d x4 1,000,000 0 1,000,000
401 AIEHIX 20HH 1,000,000 1,000,000
01 AlZ2H| 1,000,000 1,000,000
O A= E ZdAY 1,000,000
SHOHHIMSHE HE 200,000 0 200,000
401 AIEHIZ SR 0HYI 200,000 200,000
01 Al&HI 200,000 200,000
O SOHINSHE 2 200,000
HEE AUASHE HE () (D) 1,300,000 0 1,300,000
= 845,000
Al 455,000
401 AIEHIX SO 1,300,000 0 1,300,000
= 845,000
Al 455,000
01 AlZ2H| 1,300,000 0 1,300,000
O dE= AdUdHsd AL (JEAY) 1,300,000
== 845,000
Al 455,000
MBESEHEH HE A 650,000 650,000
401 Al HIZL 201 650,000 650,000
01 Al&H| 500,000 500,000
O MESTEH 28 500,000
02 Zeltl 150,000 0 150,000
O el 150,000
o SZASE ZdAMY 1,600,000 0 1,600,000
Il 480,000
Al 1,120,000
401 AIEHIZ SR OHYI 1,600,000 0 1,600,000
7l 480,000
Al 1,120,000
01 Al&HI 1,600,000 0 1,600,000
O ¢EH=ZA5E SdAEY 1,600,000
Il 480,000




M MW
M HMSAE 2 AE(2SL22/HS)
Rl MSIIEHAl

hl

x
oo
o
.

SR = ] (o

RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
| Al 1,120,000
SgAZXER X4 50,000 0 50,000
401 AIEHIZL S OHLI 50,000 0 50,000
01 A&l 50,000 0 50,000
O SEAEZ=E BI2X24 50,000
SHAUSHASE AFSA 600,000 0 600,000
401 AlEHIYL 204 600,000 0 600,000
01 A=l 500,000 0 500,000
O dUisddsd dF 500,000
02 Zeltl 100,000 0 100,000
O Zeldl 100,000
SHE2AAHI(M=S) (IIEHIIEH 36,500 30,016 6,484
Jl=23l 36,500 30,016 6,484
Jl=2&Hl 36,500 30,016 6,484
201 LBt 27,400 22,416 4,084
01 AtR2telbl 25,000 20,016 4,984
O Mgl 2% +ZHI(SZHI,A2FH| S) 25,000
02 2324l 2,400 2,400 0
O Hsl 28 2322 (RFH 8) 2,400
202 044l 5,500 4,000 1,500
01 =LHO LI 5,500 4,000 1,500
O HSH JI=2g: =& 0l 5,500
203 2R =& 3,600 3,600
M FA2HLRFEI 3,600 3,600
O BA=2ZR=2a| 3,600
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